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PRINTABLE VERSION
Quiz 7

Question 1

Express the solution of the following inequality in interval notation.

10z < 3

a) O [~ Y0, ®)
b) O (~=0, ¥0)
¢) O [¥10, )

d) O (=0, = %]

e) O (—o0, %]
f) None of the above.

Question 2

Express the solution of the following inequality in interval notation.

—bx > 3

a) O (-0, — %]
b) O (-0, ¥]
¢) O [¥s )

d) O (-0, = %)
e) O[5, o)

f) None of the above.
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Question 3

Express the solution of the following inequality in interval notation.

5c — 5> —2

a) O (o0, %]
b) © (¥, )
¢) © (Vs )
d) O [7s, )
e) O [¥, @)

f) © None of the above.
Question 4

Express the solution of the following inequality in interval notation.

11 — 11z > -3

a) O (-0, %]

b) © (-0, %)

¢) O (0, =¥
d) O (-0, %]

e) O (-0, %)

f) © None of the above.
Question 5

Express the solution of the following inequality in interval notation.

3r+4<6x—6
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a) O (-0, 193)

b) O (— %4, )
¢) O (-0, — %)
d) O (%4, )

e) O (1%, )

f) © None of the above.

Question 6

Express the solution of the following inequality in interval notation.

Tx 1
- _ - >
l+7 —z@+11) >

a) O [~ 40, @)
b) © (-0, = *¥30]
¢) O (-0, 9%3)
d) O (-0, 9%3]

e) O (-0, — *0)

f) © None of the above.

Question 7

Find the solutions of the equation.

30<5:1:—5($;6) < 60

a) © (-0, 6]U[18, )
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b) O (6, 18)
¢) O (6,18]
d) © (-0, 6)U[18, )
e) O [6, 18]

f) © None of the above.

Question 8
Solve for x:
3< 4z + 17 <5
2
a) O [=5.-7)
by O [ ")
¢) O [-*%:~3)
d) O 247
e) O (%]
f) © None of the above.
Question 9
Solve the following compound inequality.
-10 < -2 <10

a) U -5=x<5
b) © All real numbers
¢) Ox>-5o0rx<5

d) ©Ox<-50rx>5
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e) ©-55
f) © None of the above.

Question 10

Solve the following inequality: 8x + 9 < 16x — 11

a) O x>5/2
b) © x>11/8
c) O x<9/4
d) ©Ox<52
e) U x>9/4

f) © None of the above.
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